TERTE BIHAAT STINT : ISTAAT GIURIET 2 TS 2090
AT 3100 UOR 2

Jete SART AT TER JMUTRA 9 T 4 HeA7 IO .

¢y ATl SHYTA Pic - ' TEIE oS BRI 277 g HY fIfee. & T dhet Bl AU Ut HURIR
B WPReIe] ARGSKIT Iehdll. T SIRIS TSl G A SRR Siaed s =ameatar amaR
RO SR} S fadepglieat PHARGTS Teg, AR forell AT qEr Seifiary exvareat Hidios ¢ Sies
GBS WiIPRetel SR, HFASI SaadT AIGAT YU RSIHR IT SRS Mg, ATl HE DR 0T
ST SO SR, 2 BROTHED SARIT il ARV Tieteh TV TR goareht weft ffesd. srefrorduona
TRV ¢ WU AU 3. T YT HIGHT HRac TR @ IRudTd! STATEGRT edetelt 3rd, o areft
ST RN, Dl AT TEER NPT STUKIIUTRS ATcHTel PRl § UIpIaRIeD IeTd. AT IRIg IR Tehal
T 3MTel Job FFARN aael, AT T MSATAT SRAGA SAVTIT SIRGSTETT & FfShd Sfig gl UTesel TIhuIR
R, It @t ueett, P g UTeie T Uhed™ dTe aTefuaTTed ed gedd Sdld. AT @R FgU 8l Ulds g
PIE! AT T, PR Blal A1 TSel aRI Iral Sg o Ade! Tehed arcald dxdell fAIeheiid. Tu oS
T SRRV I HTERE T MU J&ciep ool el SIRGSIURET Hiehosieh fHosauare SR arietrd fie]
NI, ST feies aTaRuaTd eTesd 1!’ g FaleHTe "iyamed 3.’

vETeTET AT foraRi aRur S ISashic T JISThIT JUTEHTESIE STTelt, URURE SaRereaT ISTh R T
AT FRIT VST Sl RISIATE]. IRGRASO e gas, dferd o< JISTbly g ST TR, T TI®
ST STel. A faadepre] eaiar SMUReied T Farard! Fari=y AT AHT IT Faitabrel LT HReted
31T AT ST ST Saw forf ST vrcfeft, aTa Sieamer 5T dhet STl <] FHceR SMUReted
31T ISTFTRITAT el STRRESTET I&T ST, T FTHIID TRUTH SR ATl D T Y 37T ST
AT I T AR g3 onfr enfifes fafderar o SraTfi g i@ 31eR ara, reft ST dRrret
HTST {2
q) AU SIRES ¥R I T BReiel 3T 2

9) rresefigum Q)ﬁﬁ@@mmm@ﬁm@&mmﬁﬁmmw
3) d UIPIGRID 3T, %) UIeTeh TS

Q) WWWWWWW?

9) UTceAeh g Tefter SRAT Q) Thed™ dTcarcel TxUITd eldh SRIT

3) aresefiaur 3Mfor areRequn ) ST, SRER 3N Teidvs T Tehacalel 3T
3) YA IO 19 TeAT thid ARl YR T Aged! ?

q) FHeferd Td Q) FaITS! T

3) A facemget $) FEAT
§)  UAIUAHS ..... T YRR SMYReAT ISRl STRIGET S&Te STTel.

) SFITER 5T PRI AT FHA R) T, FHAT AT G

3) 9! gep ) UTfties fafderdr

Y) VSIS FHIST DIV SUET BRI Ridpall ?
q) PIURITE I ISTHIT Fae AT JeTdl gah d UTfiieh IaTT=aTaT T el aTfest.
R) A ISIHI T AT St arfest.
3) AU A fRR PRuaR 2R eRadet aifgst.
®) T, FHAT AT AT fIaergal @ IISa=ial IRl 3iFel UTord.

MPSC Iroavar gd oter : 2090 g a¥tem 9R-2 / 9



Read the following passage and answer the questions from 1to 5 :

Immanuel Kant wrote a treatise called "What is Enlightenment ?" in 1784. He explained that 'Enlightenment is
man's release from his self-incurred tutelage. Tutelage is man's inability to make use of his understanding without
direction from another. Self-incurred is this tutelage when its cause lies not in the lack of reason but in the lack of
courge to use it without direction from another. Laziness and cowardice are the reasons why so great a portion of
manking remains under lifelong tutelage, and why it is o easy for others to set themselves up as their guardians. It is
so easy not to be of age. that the step to competence is held to be very dangerous by the far greater portion of
manking is seen to by those guardians who have so kindly assumed superintendence over them. After the guardians
have transformed their domestic cattle into dumb followers, and have made sure that these placid creatures will not
dare take a single step without the harness of the cart to which they are ththered, the guardians them shown them the
danger which thretens if they try to go alone. Actually, however, this danger is not so great, for by falling a few times
they would finally learn to walk alone. But an example of this failure makes them timid and ordinarily frightens them
away from all further trials. "Have courage to use your own reason!" - that the motto of enlightenment.'

Englghtenment thought culminated historically in the political upheaval of the French Revolution. The
traditional hierarchical political and social order the French monarchy, the privileges of the French nobility, the
political power and authority of the Catholic Church - were violently destroyed and replaced by a political and social
order informed by the Enlightment ideals of freedom and equality for all, founded, upon principles of human reason.
It gave rise to a basic model of government founded upon the consent of the governed. This also taught the society
to expect that certain basic individual human rights and religious diversity need to be respected and realized by any
legitimate political system.

1] Why is man's tutelage self-incurred ?

1) Laziness 2) Lack of courage to use the understanding without being directed by others

3) It is dangerous 4) There are no guardians
2) Why does the majority of manking remain under lifelong tutelage ?

1) The guardians are powerful 2) It is dangerous to walk alone

3) Laziness and cowardice 4) The monarchy, nobility and Church have great powers
3) Which of the wollowing did not form the ideological basis of the new French Order ?

1) Catholic Church 2) Freedom for all 3) Human reason 4) Equality
4) Enlightenment resulted in the model of government that was founded on

1) Acceptance of the people who were to be governed  2) Liberty, Equality and Fraternity

3) Human Rights 4) Religious diversity
5) What did the society learn to expect as a result of the Enlightenment ?

1) Any legitimate political system should respect basic human rights and religious diversity.

2) People should give consent to their rulers.

3) Humans should have the courage to think independently

4) Freedom, equality and human reason should form the basis of a State.
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Read the following passage and answer the questions from 6 to 10 :

Let us further consider the formation of concepts. Every word instantly becomes a concept precisely insofar
as it not supposed to serve as a reminder of the unique and entirely individual orginal experience to which it owes its
origin; but rather, a word becomes a concept insofar as it simultaneously hs to fit countless more or less similar cases
- which means, purely and simply, cases which are never equal and thus altogether unequal. Every concept arises
from the equation of unequal things. Just as it is certain that one leaf is never totally the same as another, so it is
certain that the concept 'leaf’ is formed by arbitrarily discarding these individual differences and by forgetting the
distinguishing aspect. This awaknes the idea that, in additon to the leaves, there exists in nature the 'leaf’ : the
original model according to which all the leaves were perhaps woven, sketched, measured, coloured, curled, and
painted - but by incompetent hands, so that no specimen has turned out to be a correct, trustworthy, and faithful
likeness of the original model. We call a person 'honesty’, and then we ask 'why ahs the behaved so honestly today?'
Our usual answer is, 'on account of his honesty'. Honesty! This in turn means that the leaf is the cause of the leaves.
We know nothing whatsoever about an essential quality called 'honesty'; but we do know of countless individualized
and consequently unequal actions which we equate by omitting the aspects in which they are unequal and which we
now designate as 'honest' actions. Finally, we formulate from them a gualitas occulta which has the name 'nonesty'.
We obtain the concept, as we do the form, by overlooking what is individual and actual; whereas nature is acquainted
with no forms and no concepts, and likewise with no species, but only contrast between individual and species is
something anthropomorphic and does not originate in the essence of things; although we should not presume to
claim that this contrast does not correspond to the essence of things : that would, of course, be a dogmatic assertion
and, as such, would be just as indemonstrable as its opposite.
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6) When does a word become a concept ?

a) When it is not supposed to serve as a reminder of the unique.

b) On account of its 'honesty’

c) When it fits the cases which are never equal

d) By overlooking the universals

1) Only a 2) Only a and b 3) Only ¢ 4) All of the above
7) How is the concept of leaf formed ?

a) Arbitrarily discarding the individual difference

b) Forgetting the distinguishing aspects

¢) By nature

d) By imitating the original model

1)Only a 2)Only aand b 3)Onlya,bandc 4) All of the above
8) What does the nature know, if not the concepts ?

a) The individual and actual b) Essence of things

¢) Equation of unequal things d) It is inaccessible and undefinable

1) Only a 2)Only a,bandc 3)Onlyd 4) Only ba and ¢
9) What actions does a leaf perform if it wants to get equated with concept of leaf ?

a) To become one with individual differences b) to discard the distinguishing aspects

¢) To forget the distinguishing aspects d) the equation of unequal things

1) Only aand b 2)Only cand d 3)Only a, band d 4) Only b, cand d
10)  Which experience should count as a parameter of formulating a concept ?

a) The original experience b) The instant experience

¢) The equating principle d) None of the above

1) Only a, band ¢ 2)Onlyd 3)Only c 4)Only aand b

Yeid IART AT AR JMUTRT 99 T 94 FeAre S a1 :
qTcetag uTvaTd g Jie gafaReiiy gRom

UTUITRATS! UERT B9 W&d e IR ATcliel el STV S Hefigh T dhafl Sird el ¥R a% I7 U ey

(oY

qIcelieg IToThRIaT el IR 89IR Qe UeH 31feres 11 @d o 3imerd, {6 S aioft Jeiell T@gR ey
fefmreiiar fires.

qTeetiag fiugre urudTd sierRe gHId Hell MUGauR ared. feided fig! Siaaie T Toft gRagaren
SR IS Y d1E efl, TR B ANl HEFGIT ATfRILTd RIS IR ofae. gt STeis detet &t
TRATE T HieR U AT hass b IRTT 3! ey gl (g STardle U BN aflex UTudTesid ST o0
R SAMHRA) TN e T AR /T dlect D ATV TS QY U= < AN,

ST STcetas Toft ST ieaie Jad g M. e AT q1oarh fhd & Prel fay a1 ared el |
o0y ALY 94 37 Gfiey UTUTET TR bell iIell. AT TR [2¥PT 4.9 376t eficR BIdl. e IR arera
TR Yo T RN UReTR HYU! WRA QT AR 900 & 3T FIceilas UudT SN BRI 3R ! SeTele]
4¢o0 P DTN 3.

SR GrETeT dTed 3RIeT @l dTcetias Uil I d JRIAT 37Tt @R el el AR _ugrdl g des 3MTe. Agth
FRUTRIRET ST & ST 3T F AT TR oTerd (ehy STfcer HoR Med. T Sfiet 3T 2 &Rt S
&, STa% STa% o Teh AIceiag Umft § e AT UISUGR 3ffelel amvft grgl STcefias dhel ST

Wh wileR dTeetta ruft (et e urer efieR aToamed TReT 3R, § SR YshierIe e, 39 ol Aeaid
AR SR 948 3fesT ey aTcelag aroft Fffciessian o 37est wficx uroft areRTd AR, g Toft 00% ATel!
ST aToReledT TuaTgdd gid. fohd) Ude 319y 31g g |
UTEUIRIR dTCatleg UTuaRITS] AT 3eiel Wiveieh (+HTUT ehRel T HIGdT FHIUINT ol dIuRTdl ST, Teheal
3R STIes STa 2 36 e dIceiie umfl T o0y ALY qTuRe] iel. ITRATS! Tfsha MO aTgdebip<iar R
20 g i (sRet) Wit aTuRel Tot. THd JETEIHIGT STHT BIVIRT Wi id aRT d dliReted] SeedT AT
AIGIT YR YSTel a1l @ &1 qUl SifshaT STRTRiep ATo T gt PRI 3TTg.

MPSC ITS9iaT g4 U181 : 2090 Gd ORIem 9R-2 / ¥



Ieateg dTull SN BIUR TS TATeRvIT JHAM @i R SUR &1 2 8- 6t S 3D
mﬁmmm@wﬁﬁmwmmwmm IR RIS T @
YRITR Qier SITCT 18 T g @it 1R, Sfefeped 9 SIIvepte HerdR Afa R RIS ICERT PG
R et &, SETIFﬁFf fafer favmT, S, daTeaR g ereRraT el aToRum=IT Hged 1Y FBIGR uTofigRaa]
bl SN T I FTeetiad ol RIGuaRT §t arerdt. @ifear a1 fofara @l exar @i @ifider b
TATeh IAZATT Teh Ay dTeeiiae qruardT fohadid TR U goTR uTofl Sucteds gl
99) dIeeeg qIuaTdl wafeRi fhad Py ag ?

31) 0 TS JATAT fuuTT aTaR ) SIHIfes dT9q= a1

%) STl TGl S RECRICAUI

9) theh 37 M1 & ) eh § M0 & 3) Wb 3T, § 37T & ¥) theh & IMOT S
)  TICAES UTUITS BIVTR JHH PBHI PRUTTATS! Hgeh AT Wlefietieh! Prurd fofr el ?

37) SUBRIEI Gch [ dpotel Troft <or

) YRR fAWRT, B PRUTIT HRAT d DATCIRIN SIceiled Urvi QU TR +eft aroRuaRy adt
&) FBTGR 1 UToft GRAST el ST T HIGAT THIUIN Weieeidh STeefiq groft U .

9) ek 37 3ATOT & ) Beh B 3) Uk 31 31T & ¥) TR T
93)  TeiicTid PIv fAUM eI STecaidT aToR PRUARISE aRIsR 18t ?
31) SIIfces STel SENTEST Tlegls PR 31T

¥) URATT 900 FIeeiiag T HREH 3.
%) Agth FRYTIA Yo Teh et Urufl TTea UTua grgl dIceileg el ST,

) wIRCIPe] el ST HISUATe Yoiel Hyul gll.

9) ek 37 3ATfOT & Q) Weh & NI § 3) Bh B 8) Beh ©
9g) 9 ofiex STcetiae UTvfl IATEH HRUATITS! foheht el 3Ta9adhdr 3RTd ?
q) Q @l ?) 8 e 3) Yy afie” ) 9oo e

94)  TYh AT XA STCelias UTudTd SeUTGT HRUTTAIS! AT Tl dTgqed HRugRITe! febell U et
TRST 3T ?
9) 9o qerTE R) R0 e 3) 4 et 8) R ST
Read the following passage and answer the questions from 11 to 15:

Bottled Water and Its environmental cost

The next time you buy a bottle of drinking water, you need to pause and think. You may not bat an eyelid
shelling out Rs.15 for a litre of bottled water but what you don't realise is that you are actually paying over 4,200 times
of what you normally pay for a litre of tap water.

The economics of drinking water has always baffled me. What is perplexing is that the average urban middle
class squirms and protests if the Delhi Jal Board, for instance, tries to 'normally' raise the price of tap water. Paying
a little over one paise for three litres of tap water (DJB prices tap water at Rs.3.50 per 1000 litres) they feel they are
already being made to pay through the nose.

Price being of little constraint for the consumers, the global bottled water industry is galloping. In 2004, the
world consume 154 billion litres, of which India's shre was 5.1 billion litres. Expected to grow at 40 percent annually,
the Rs.1,800 - crore bottle water industry is experiencing unprecedented boom with over 1200 water factories doing
business throught the country.

If you think bottled water assures you of purity and safety, it is time you think again. Even in the U.S., despite
strict quality norms formulated by the Food and Drug Administration, it is safely assumed that nearly 40 percent of
the bottled water is repacked pipe water.

Shockingly what is little known is that more than five litres of water is required to produce every litre of packed
water. In orther words, 770 billion litres of water wre used to produce and pack the 154 billion litres of water that the
world consumed in 2004. What a colossal waste!

Bottled water also has additional, hidden environmental costs. According to the Pacific Institute in California,
the entire process of making plastic for the bottles requires huge energy. In America alone, where nearly 26 billion
litres of bottled water was consumed in 2004, an equivalent of 20 million barrels of oil was required every year to
manufacture and transport the bottles. The accumulation of plastic bottles in the landfills also adds to global
warming besides contaminating the groundwater.
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But are people beginning to see the damage being done by the bottled water industry ? Yes, a number of
restaurants in the U.S. Have begun to serve only filtered water to customers instead of bottled water. City authorities
are also waking up. Recently, San Francisco Mayor, Gavin Newsom has issued an order to ban city departments,
agencies and contractors from using city funds to serve water in plastic bottles and in larger dispensers when tap
water is available. His argument is that for the price of one litre of bottled water local residents can purchase 1000
liters of safe drinking water from the taps.

11)  What is the enviornmental cost of bottled water?

a) 20 million barrels of oil b) Global warming
¢) Contamination of groudwater d) Deforestation
I) Onlyaandb 2)Only b and ¢ 3) Onlya,bandc 4)Only cand d

12) ~ Which of the following steps are taken in the U.S. to reduce the damage caused by bottled water?

a) Serve only filter water in reastaurants

b) Ban city departments, agencies and contractors from using city funds to serve water in plastic bottles.

¢) To ban water from bottles in large scale where tap water is available

1) Only aand b 2)Only c 3)Only aandc 4) All of the above
13)  Which of the following statements is not correct about bottled water industry ?

a) Global water industry is galloping.

b) There are 1200 bottled water factories India.

¢) In USA 50% of the bottled water is repacked by pipe water.

d) Accumulation of plastic water bottles in landfills adds to contamination of groundwater.

1) Only aand b 2) Only c and d 3)Onlyc 4)Only d
14)  How much water is required to produce every 1 litre of bottled water ?
1) 2 litres 2) 4 litres 3) 5 litres 4) 100 litres
15)  In U.S., how many barrels of oil is required every year to manufacture and transport the bottled water?
1) 10 million 2) 20 million 3) S million 4)2 million
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Read the following passage and answer the questions from 16 to 20 :

Poeverty springs from a number of sources, the more important of which are controllable. So does special
privilege. I think it is entirely feasible to abolish both poverty and special privilege and thre can be no questions but
that their abolition is desirable. Both are unnatural, but it is work, not law, to which we must look for results.

By poverty I mean the lack of reasonably sufficient food, housing, and clothing for an individual or a family.
There will hve to be difference in the grades of sustenance. Men are not equal in mentality or in physique. any plan
which starts with the assumption that men are or ought to be equal is unnatural and therefore unworkable. There can
be no feasible or desirable process of leveling down. Such a course only promotes poverty by making it universal
instead of exceptional. Forcing the efficient producer to become inefficient does not make the inefficient producer
more efficient. Poverty can be done away with only by planty, and we have not gone far enough along in the science
of production to be able to see, as natural development, the day when production and distrigbution will be so
scientific that all may have according to ability and industry.

The extreme Socialist went wide of the mark in their reasoning that industry would inevitably crush the
worker. Modern industry is gradually lifting the worker and the world. We only need to know more about planning
and methods. The best result can and will be brought about by individual initiative and ingenuity - by intelligent
individual leadership. The government, because it is essentially negative, cannot give positive aid to any really
constructive programme. it can give negative aid - by removing obstructions to progres and by ceasing to be a
burden upon the community.

The underlying causes of poverty, as I can see them, are essentially due to the bad adjustment between
production and distribution, in both industry and agriculture - between the source of power and its application.
16)  Poverty and privilege both are

1) Natural 2) unnatural 3) God-gifted 4) All of the above
17)  Poverty is defined as

1) Lack of land 2) Lack of food

3) Lack of housing 4) Lack of food, housing and clothing
18)  What is assumed in an unnatural and unworkable plan ?

1) Nature provides unlimited resources 2) Men are or ought to be equal

3) Urbanisation is the base for development 4) Equal distribution of income
19)  Socialists are of the opinion that

1) Industrialization is against common man 2) Capitalists are against the workers

3) Industry would crush the workers 4) Workers are the backbone of development
20)  Based on the passage, which of the following statements is not correct ?

a) Government is essentially negative. b) Government can give the positive aid.

¢) Government can give the negative aid.

1) Only b 2)Only aandc 3)Only a,band c 4) Only a
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Read the following passage and answer the questions from 21 to 25 :

Sound waves are formed due to vibrations of particles and propagate in a material medium in the form of
longitudinal waves. The sound waves of frequency less than 20 Hz are called infrasonic waves. The human ear can
hear the sound waves between frequency range 20 Hz to 20000 kHz. This is the audible range. The sound waves of
frequency greater than the audible range are audible to certain animals such as cats, dogs, bats, etc. These are the
ultrasonic waves. While flying, a bat produce ultrasoic waves. These waves strike obstacles in their path and are
reflected. The bat ¢ an use echoes to detect the obstacles and hence avoid collisons with them. Thus a bat can find
its way even is the dark.

Ultrasonic waves are produced by pieoelectric oscillators and magnetostriction oscillator method and detected
by Kundt's tube, Quartz crystal and Thermal detector methods.

The waves having more frequency, possess more energy. Hence ultrasonic waves possess high energy. Like
sound waves, ultrasonic waves also get reflected, refracted and absorbedd. Their velocity increases with frequency.

Ultrasonic waves are used in many industrial, scientific and medical sciences. Sound navigation and ranging
(SONAR) is the instrument which can produce, transmit and receive ultrasonic waves. This technique is used to
tetermine the distance and location of underwater objects such as submarines, icebergs, etc. using ultrasonic waves.
It can be used to determine the depth of the see. For this a transmitter and a detector are installed in a ship. Ultrasonic
waves are also used for ship to ship communication, welding plastic surface, to kill bacteria in liquids like milk to
preserve them, in echocardiography, for imaging internal organs of the human body, in industry to clean parts of
machines, to detect cracks and flaws in metal blocks.

21)  Ultrasonic waves are .............. in nature.
1) Transverse 2) Longitudinal 3) Electromagnetic 4) Stationary
22)  Ultrasonic waves are those waves which
1) human beings cannot hear 2) human beings can hear
3) have less frequency 4) None of the above
23)  The echocardiography technique is based on
1) Transverse waves 2) Infrasonic waves 3) Ultrasonic waves 4) Longitudinal waves
24)  To determine the depth of sea this technique is used :
1) Thermal detector 2) Kundt's tube 3) Oscillator 4) SONAR
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25)  The waves of frequency .............. are used to kill the bacteria in liquids like milk.
1) less than 20 Hz 2) between 20 Hz to 20 kHz
3) greater than 20 kHz 4) None of the above
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Read the following passage and answer the questions from 26 to 30 :

The subject Plant Breeding, although developed in recent time on modern scientific line afte mendel's
discoveries, was known in early times to Egyptians and Assyrians. Later during 18th and 19th centuries several
artificial crossings were made by many workers and interesting results obtained in the form of new varieties. But it
was Mendel who first laid down the foundations of plant breeding on scientific basis and formulated the laws of
inheritance of charactes.

hybridistation between two varieties of a species brings about a combination of desirable characteristic. A
plant breeder specialize in crossing plants with the desirable character. Thomas Fairchild (1717) was the first person
to obtain a successful hybrid by crossing Sweet William and Carnation. The knowledge of Mendel's laws had mad
the job of a plant breeder scientific, reliable and predictable. In biseual plants the anthers of stamens of the female
parents have to be removed (emasculation) in order to prevent self-pollinatoin. Emasculation is not required in
unisexual flowers and in the self-sterile bisexual female parents. Male sterlity has been reported in Maize, Wheat,
Sorghum, Barley, Cucumbers, Tomatos, Onion and Sunflowers.

Sterile males are of great help in raising hybrids of desirable characters. Stigmas of the carpels are enclosed
within polyethylene bags since th early stage to prevent pollination by the pollen grains of unwanted plants. The
bags are put back in place after dusting the stigmas with the pollen grains of desirable plants. This process is called
bagging.

Hybrids : The hybrids are usually interspecific i.e. intervarietal. Interspecific and intergeneric hybrids are not
possible. A rare example of interspecific hybrids is the Mule in animals and the Triticale is an intergenetic hybrids
between Wheat (Triticum) and Rye (Secale). Generally6, a hybrid may be heterozygous for only one gene or for a
number of genes.

The breeding of hybrid corn is very significant example of hybridization. It is obtained by crosing two inbreed
or homozygous lines of maize. The inbreed lines are true breeding and highly uniform.

Hybrid vigour or Heterosis : The hybrids often exhibit hybrid vigour which is defined as the increased vigour
(superiority) of the hybrid over either parent in one or more traits e.g. in growth, yield, disease resistance, etc. Maize
plants exhibit a very high degree of hybrid vigour (25% higher yield). Other plants showing hybrid vigour are
Sorghum, Rice, Bajra, Suguarbeet, Petunia, Cabbage, Cucumber, etc. The plants which are self-pollinating types lose
heterosis by inbreeding and therefore, pure parental lines are crossed every year to obtain seeds with high degree of
heterosis.

On the other hand, hybrid vigour is not lost and persists if the desirable hybrid once obtain is subjected to
vegetative propagation e.g. Mango, Apple, Guava, Dahlia, Chrysanthemum, Rose, etc.

26)  Heterosis is

1) Appearanced of spontaneous mutations 2) Induction of mutations

3) Mixture of two or more traits 4) Superiority of hybrids over their parents
27)  Baggings is done to

1) Avoid self-pollination 2) Avoid cross pollination

3) Achieve desired pollination 4) Prevent contamination from foreign pollen
28)  Pure line breed refers to

1) Heterozygosity and linkage 2) Only heterozygosity

3) Homozygosity and self-assortment 4) Only homozygosity
29)  The new varieties of plants are produced by

1) Selection and Introduction 2) Mutation and Selection

3) Selection and Hybridization 4) Introduction and Mutation
30)  Heterosis lost due to continuous inbreeding in known as

1) Hybrid vigour 2) Outbreeding pressure

3) Inbreeding depression 4) None of the above
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Read the following passage and answer the questions from 31 to 35 :

During the interactons with a group of standard VI students. Dr. Sarvesh demonstrated various experiments
involving physical changes viz. Vapourisation/Evaporation (liquid to gas), Melting (solid to liquid), Sublimation
(solid to gas) and Chemical changes viz. Neutralization (reaction between acid and alkali), Precipitation (reaction
between ammonium chloride/potassium chloride and silver nitrate).

this group enjoyed the session and demanded little more information regarding detection of cations and
anions in the given solution. With this demand, Dr. Sarvesh designed three experiments (one by observing the
changes in the colours of the test papers and another, just observing the change) to detect the presence of ammonium
radical in the given salts.

Dr. Sarvesh dissolved a small amount (aproximately 0.100 g) of each, solid ammonium chloride and solid
potassium chloride separately in 2.0 cm of de-ionised water, in two different test tubes labeled 'T' and "2' respectively.
Two drops of each of the above solutions were separately taken the three different dry test tubes forming two
different sets' one set kept on the extreme left and another on th extreme right. The three test tubes, in each of the two
sets, were gently heated on adding six drops of 2 N sodium hydroxide (alkali) to each and the evolved gaes were
carefull brought in contact, separately, with-a moistred litmus paper, a moist turmeric paper and a glas rod dipped in
dilute hydrochloric acid.

Above the test tubes on theleft hand side, in the first case, the paper turned blue (this was exactly opposite
to acidic gases which turn moist blue litmus red), in the second case the paper turned brown and in the last case
dense white fumes of ammonium chloride were observed. No such changes wre observed in the colours of both the
papers nor dense white fumes above the test tube on the right. Dr. Sarvesh explained that during the reactions
between the reagents gaseous ammonia is liberated which is alkaline in nature and inferred that the solutioni in the
left hand side test tubes contains ammonium radical while that in the right hand side test tube does not.

Dr. Sarvesh then asked students to perform the test. In the first experiment, Ms. Riya, in addition to the earlier
observation, found red litmus turning blue for the test tube on the right while Mr. Ravi, did not get the desired color
change of the turmeric paper on the left hand side test tube. Dr. Sarvesh explained to the students the proper way to
perform the test. Following the instructions from Dr. Sarvesh, when the students correctly performed the tests, they
got the desired results.

31)  The following conclusion can be drawn from the above passage :

1) Ammonium chloride is only soluble in water

2) Ammonium chloride is soluble in water as well as could be sublimative

3) Ammonium chloride is only sublimative

4) Ammonium chloride is soluble in water but not sublimative
32)  The correct observation due to the presence of ammonium ions are

1) Turning red litmus blue, turning tumeric paper red and evolving dense white fumes from a glass rod

dipped in dilute hydrochloric acid.

2) Turning red litmus blue, turning turmeric paper brown and evolving dense white fumes from a glass rod

dipped in dilute hydrochloric acid

3) Turning blue litmus red, turning turmeric paper brown and evolving dense white fumes from a glass rod

dipped in dilute hydrochloric acid.

4) Turing red litmus blue, turning turmeric paper brown and evolving dense white fumes from a glass rod

dipped in dilute potassium chloride
33)  Ms. Riya did not get the desired observation, because she brought
1) ared litmus paper in contact with the evolved gases above the test tube on the right.
2) amoist red litmus paper in contact with the evolved gases above the test tube on the right.
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3) amoist red litmus paper in contact with the solution of the test tube on the right.
4) None of the above

34)  Mr. Ravi did not get the desired observation, because he brought.
1) aturmeric paper in contact with the evolved gases above the test tube on the left.
2) aturmeric paper in contact with the evolved gases above the test tube on th right
3) both (1) and (2)
4) None of the above

35) Observation about white dense fumes are seen
a) as aresult of a chemical change b) as aresult of neutralization reaction
¢) because ammonium chloride sublimes
Which of the following options are correct ?
1) Only aand b 2) Only b andd ¢ 3)Onlyaandc 4) a, b and c
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Read the following passage and answer the questions from 36 to 40 :

Robert Frost once famously defined a liberal as someone who could not take his own side in an argument. But
contemporary constructions paint an opposite picture; Liberals are seen as self-satisfied ideologues with no stomach
for diversity of ideas. Exposing the political hypocrisy of liberals hs become a rhetorical gambit to delegitimise the
idea of liberalism itself. Alas, it has to be said that those who use this gambit have much ammunition to deploy. But
thee are also other sources of concern. Nicholas Kristof in a widely discussed New York Times column, argued that
the hiring practices of American universities were biased against conservatives. Liberal institutions, rather than
becoming shelters for diverse ideas and genuine contestation, were turning into monoliths of political correctness.
Liberals were supposed to be able to think out of their skins; now they imprison themselves in boxes. Similar charges
have been voiced in India, most recently by Gurcharan Das.

these charges are often political gambits. The charge that liberals exclude and ostracise conservatives come
in many forms. There is one version of this charge that liberals do not have to be defensive about. A conservative
presumption in favour of an old order is quite often associated with hierarchy; this usually hs the odour of sexim,
racism, homophobia, casteism, and hostility to minorities. Sometimes liberals can promote a kind of faux sanitisation
of the intellectual environment in ways that close off debate. But the idea that institutional spaces should not
legitimise sexim, racism, casteism, and xenophobia is one that every decent society ought to promote.

There are conservative articulations than can, subtly or unsubtly, target specific groups. They make people
uncomfortable in ways that have nothing to to with intellectual argument. Liberals are entirely right to be suspicious
of these positions. To not be suspicious would be to abdicate a commitment to human dignity itself.

36)  From the paragraphs you can definitely conclude that Robert Frost is a/an

1) Self-satisfied person  2) Liberal 3) Conservative 4) Author
37)  The paragraph

1) praises liberals 2) criticises liberals

3) argues that liberals are better than conservatives 4) argues that conservatives are better than librals
38)  American universities have hiring practices opposed to

1) Conservatives 2) Liberals with on open mind

3) Self-satisfied liberals having a closed mindset 4) Open minded conservatives
39)  Nicolas Kristof'is a

1) liberal columnist criticising conservatives 2) conservative columnist

3) introspecting liberal 4) introspecting conservative
40)  The author of the paragraph is

1) racist 2) homophobic

3) worried about the deteriorating conditon of liberals 4) worried about conservatives

Yeid SARTETYH STaR JTUTRE 89 o 4 Tt SR & -

ST FRISTOTHELT SfTeledT FedT SIOTaid G e oRTcel AT A Iid 1> UrafduaTel B AT
Tol I+ T BTt eictel. Reiean @ sRyeareaT st @i AT Preedr. faerar sl sTemn! FhaRT
3T enfifep &Tcllel QAT deiva AT S} IgSTHISITed] Jeci<dl 37 I Bicdl. ol Al MR JIRER Bl
Tt ; ST Tad:= i Al GRS SHISUATT TGl Ugd dhel. HIF Al Hot el AT T8@R
e fauate siTeameRisT Mifgetr 1. I Ravmesetel g1, amvlﬁ%@ﬁ s’uvr%m%frﬁgﬁ 3R 3R IedTeR det
e, IS PTet STl &S GHURD DR AT Joaosien Seauiiar Ieiepgr faierd e, TEFRIAIII
fI&uTraT TR STl e ol I faaR Qe Ue! gsel e, Jiedl Jeggar ANy daacidl JAec]
AN, 3.4, 9¢RY AR SNRIR Pl FHel. T %09 A IS A UIUISAN HAeHdel. MR AHID
GasgodielT PHIvfl YRUR T T ATET. A2 R SAEHERTSTHT et STV IS AT AHTISTD GURU B R
q¢ AT odct. ' ARATTeiedT Alehied] SAfTEIT HTol holFard! i =Rt I d MUTxTa et i1 Iehs 57
el ARTRICICAT GiIehicl fIera IRTR B0 fad Tt d MUTERIE TRdet I JShcs 51 dhel. ATl dlepid
ferdT TR slueucm'icu e TR et UTfesid, € ednT Hell TR 3Tefl.”’ IS, RN, MRgel Irdt
¥ ISR T FIEUTED . AT JY T FAA ST TR o] SRR esdesidl IReT Tsefl !, 3 Gg,
SEBAII H BNl WWWWWHSNMIWI STl AUl e, TR GIORIEAT
JSTaRd H1d HIeld AT SHTaHTd el AT T8 HRUIRT Gool TTaT HHHGT Fddy §e@RYUTE! T ITel areel Tg.
U R ot JrdT HENATE ST =t IS Al WRIE Faefiel araariigg et aiet |nre ared
STEHERTSTI HERTEI STEIORR Feddesre Jecie e,
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HERS UIe PRYR UIE el deg] PIegIR AUl ARFI=0e! Seauiiarard HRom gidl. g U8
SIRPRY TR THTS A 3Fel, TR T AT AERAAR 37T Y8 el URTETE YR J1ed
RO HHG AT, AT AEBAY AT SR Bl FRULT i1 AATIDI I [aTATeller HTURT=T SeTos
STPRYGIER FHUDT P ARARI AUl TS G& chetl. IMEfTAT PIIT FRGIIU gebHd TMTfIvaTET TRTE
HTeTel U1 SHRYPRT AT STERIUOITT @I el SO, 314 R AR @AaensIe eTaex et g e et
WWW@ﬂWWWWW%WWmem [CIECN
TSI TAHTSTIEA SRS :¢7ehqUl UTaiet CIehUTY AT1T ol chetl. STUeT STt FRIRTGT W SR g
7 ORTclel Arepielt R FARAC |h AT ; ST <A JFStarsavl FHT B9 T G PRUIRIATS! &1 <t
SURIIISTT <hetl. QAT T AT FSTISHTdT fA9aT TG SRl ST, TR ARt T Ad STo T 3oy
NTCT. T AR JURUAT G Sl IgRIAT PRI dlepial AR ST 18!, ITe @R HRUT 34 8.

89)  HETHT el T+ FUHT DIV BT greht vdel ?

31) ST ST STeled Tea ST AT RTaTesT eRid et FIRIHIT dAfiudid drgrafde.

) oardier fafaer ammd SR Pea.

P) I YIRSt SAT IRGUITIT AhiT A IR el

g) e 9 SRgLITT fRTEuTRITST 2MTesT e,

9) theh & AT § ) %eh § 3T © 3) Wheh 3T MM S ¥) Teh 37 30T B
§R) TR Gl AT SSER i1 GRUIT BT Si1e ?

a1) farera amfor enfifes &sTciiet STRoTTel FehaRT d JERaTe EehT UIgg aARTel.

) NToodT STRIVITR Toddos Il RSl Uil el

&) HEIHT ot @ SUSTUTRIT, STarveR, Ravdreselel 3Med, H STRIT AR 8195 ofTel.

T) AU Toddaslier] MBIt TTetl.

9) Wheh 31 M1 ) eh § M0 B 3) heh & MM S $) Teh 37 30T &
83) HEHT Fol Il faaR TEoTawToIred] el Usel AR, PR

3T) HETeHT Poot e fraRinT Seravita Aeriangs faRier e,

) Rerea fArevmaTsta FeTeHT Het AT 2MMST HIEe.

%) TN ]I A g STISUART YGIRIIGHT HeTeT Gl AT Tg b

) SESTIHISI fRI&0TTE AR SHTetell TegdT.

9) b 81 31T B ) h & STIT © 3) Bh S ¥) eh &
88)  ATEHERISIAT HERTEI STEURR gosacrd! aciHe Rianaelt et areett 2

37) FAIET JATERIGAR ST Yauig JURUTANS! YROI aTUeh SO HHd gidl.

) ITRIIFOIT SEEUiTETE SR gidl.

%) YEURIRTEAT JBIR UTd HIe[ AMHTSD STTaiie A T8 SHRIRT HaIel el Jrel ey J@ R

T T g1eaT gl
3) IS, IMRDR, Maet T TR FHSITAT U= Teal ATeld.
9) Wheh 3T 0T ) eh & M § 3) eh § M1 ¥) Wheh § 31T B

gY) sﬂ@%’mwwmaqmmgmwWmlmmlﬁ?‘rﬂwmﬁ?
31) A0 SHGUiITaTd YROT hedl.
q) TSI e AR APl TR e AT TN HSI—SFSTUT FHST TS T S HRUARATS
SUTRIINSTT e
&) HETCHT Gl e HeaTs ST =1, IS AT RIS Frwaefie aRaringe gEt et s ardet.
T) U BT &<} YuITeAT T BT,
9) Wheh § M1 B ) Heh § 3T § 3) Uk 31 3T & ¥) Theh 37 30T §

Read the following passage and answer the questions from 46 to 50 :

The town belonging to the colonize people, or at least the 'native town', the Negro village, the medina, the
reservaton, is a place of ill fame, peopled by men of evil repute. They are born there, it matters little where or how;
they die there, it matters not where, nor how. The 'native town' is a hungry town, starved of bread, of meat, of shoes,
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of coal, of light. The native town is a crouching village, a town on its knees, a town wallowing in the mire... The look
that the native turns on the settler's town is a look of lust, a look of envy... The colonized man is an envious man. And
this the settler knows very well... It is true, for there is not native who does not dream at least once a day of setting
himself up in the settler's place.

This world divided into compartments is inhabited by two different species. The originality of the colonial
context is that economic reality, inequality, and the immense difference of ways of life never come to mask the human
relalities. When you examine at close quarters the colonial context, it is evident that whant parcels out the world is
to begin with the fact of belonging to or not belonging to a given race, a given species. In the colonies the economic
substructure is also a superstructure. The cause is the consequence; you are rich because you are white, you are
white because you are rich.

In the colonies, the foreigner coming from another country imposed his rule by means of guns and machines.
In defiance of his successful transplantation, in spite of his appropriation, the settler still remains a foreigner. It is
neither the act of owning factories, nor estates, nor a bank balance which distinguishes the governing classes. the
governing race is first and foremost those who come from elsewhere, those who are unlike the original inhabitants,
"the others".

46)  Why is the 'native town' a hungry town ?

a) Itdid not have agricultural farms. b) It did not have markets.

¢) The blacks were steeped in poverty.  d) They were denied their fundamental rights by the whites.

1)Only aand b 2) Only c and d 3)Only a 4)Onlyd
47)  Why does the native look at the settler's town with envy ?

a) Itarises from a sense of desperation. b) He has no other option in his life.

¢) He wants to occupy a position of power.

d) He wants to be the colonizer instead of the colonized.

1) Only ais correct 2) Only biis correct 3) a and d are correct 4) c and d are correct
48)  What is the settler's attitude towards the blacks ?
a) The settler is not afraid b) The settler considers the blacks to be harmless

c) The settler is contemptuous of the blacks

d) The settler feels resentment because he knows that his position is never safe.

1) ¢ and d are correct 2) Only ais correct 3) Only d is correct 4) b and c are correct
49)  The statement 'you are rich because you are white' means.

a) That your gender defines your status in the colony:.

b) That your race defines your status in the colony.

¢) The place that you come from defines your status in the colony.

d) The language that you speak defines your status in the colony.

1) a and c are correct 2) ¢ and d are correct 3) Only b is correct 4) Only d is correct
50)  In spite of seizing the land the settler always remains
a) a native b) an ally c) a foreigner d) None of the above
1) Only d is correct 2) Only c is correct 3) b and c are correct 4) Only ais correct

49) TR SR SAUATATS! ddTd qaig Haer.

DBW
DB D&
) Q)

3) 8)
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5I)  Select logically appropriate option to replace the question mark.

& B W

Y3) X T IRGSID PRGN T8 fcted Gafaidy fHaer.

7N

| gl

9) A{\‘Z’, ?) ‘E/[\jh 3) ﬂi\

52)  Select the fold of transparent sheet X from the given options.

¥

" ;
7N\
i
X Y
AN

Y
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43)

53)

feeiett arfecht @ sy s g o geffauRT wafy Fasr.
x—yﬁ%@ﬁaﬂaiﬁx@yﬂ?m(‘)ﬁ

x—yﬁ%@ﬁaﬂaiﬁxﬁyﬂ'{w&ﬁ.

x+yﬁéﬁﬁaﬂ?\f€ﬁxﬁy?ﬁ€l@w3ﬁ.

R e

m+n-oxp+q

9) Fd ch! AT TR, Q)m,n,o,qé’rpfﬁ‘jﬁ&ﬁﬁ.
3) m,n, 0 & p 37T q =T el 37T g) m, n, o, p & q o g 3TEa.

Study the information and relationship given and select the option that shows it.

X +y represents that x is the mother of y.

X -y represents that x is the brother of y.

X +y represents that x is the sister of y.

X X y represents that x is the daughter of y.

m+n-oxXp=+q

1) All persons are siblings 2) m,n,0,q & p il ﬂﬁ SRS
3)m,n,oE°[p31TfﬁTq?ﬁﬂ?TSﬂ%H. 4)m,n,0,p8?qﬂ?ﬂ?)3ﬂ?ﬁ.

4%)

54)

Reprar SRS dehsand Wt e

9@ © @& ©

q) Q) 3) 8)
Select the logical option for the empty place.

9@ © @& ©

1) 2)

44)

G, &I ST Siep T Tien -t ST JuIfeR, 3idh STIfor SR fargielt Tt Aforepl TR et 3e—
a1 6,%, 1,4,9,HE,20,V,LF @

g @,7,3,[,A,J,8,®X,4,%0C, +

oo : P,$,8,Y,0,N,5D,>, =T

) )~

9) (X, 2 3) 2)(C Q5) 3)(J V,0) ¥) (X, 8 %)
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55)  Suma, Bano and Jack, each have prepared their own English alphabets, digits and other symbols series

as follows :

Suma : 6,%,1,# 9, H,E 2,Q V,L,F, &

Bano : @) 7; 3: L A: J; a; ®, X, 4, )4, C, +

Jack : P,$,8,Y,0,N,5D,> =5 T

They have devised a play of forming groups of three elements with the following rules. No element will be
repeated, Bano is supposed to move alphabets by starting from the right end of her series, Jack is supposed
to move elements of digital symbols from the left end of his series, and the last person will move other
elements from the right end of her series. They moved their elements according to their serial order each
time. Select the group that ends their play.

1) (X, 2, 3) 2) (C L25) 3)(J, V,0) 4) (X, 8 %)

4g) G Pl qRITAAT ... ... T GHRICAAT SISO I TN RIRAT. e fradiaa
PIUITE! TR IRIT oA o Heh! A1 ARTTaRo Ureh Uehal SO TehaTdl ATetcl Asel 3721 AR T
. Tt PRATT Jrel ST FATEAIRIT FodTd el T G URdlerd difest oY ATe. a1 demreht gfef
ERUINERISRERIRICGRARCSIE

A B \\

e

C D
q) PO T fRetear o gfef wxd T,
R) Heh D & I1 JRIT He AUTRY JATET 39 Qe
3) 7 AFIET 99C E JTEdd 81 JMasde 3T,
%) g A TR C IR o 2l aehal fdhdl C AL T ac 81 Aandl, A 3R Sl Uhrd d! 2rss

e ATE.

56)  Study the map of roads that connect cities A, B, C, D and E as shown in the accompanying figure. Design the
route such that you start from any city of your choice and walk on each of the seven routes once and only
once, not necessarily returning to the city from which you had started. For a route that satisfy the given
restriction select the trun statement from the given list.

A B \\
e
C D
1) None of the routes satisfies the given restrictions
2) D can be the only intermediate colony in the route
3) The route has necessarily to be ended at E.
4) A route can either start at C or end at C but not both.
49)  TET W WIS Tl UTid o fesquarea i deft amed. URid el S1 Wotgel Jmefiea Srardan

31ferep T fesgq <l SERT SR UfReTUaT qoo SIGT U7 F@lel hRal ST FoRiRT SiF &1 ST ST
fHeSUTT=AT ST §UE 0T SR hRall. sl ferealm UTedlaxmar Hdiferes o fSfehet 3MTfOT feetm ot woo o1
fireTel. ufgear SrmTdt fasdt Ior SrgTet el et 2

) 8Y R) Yo 3) vy ) 900
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57)

In a certain game, the players have three chances during each turn to earn points. Each consecutive win
anwards more points than the previous win. The second win awards 100 points more than the first and the
third win awards twice as many points as the second win. Lachhi won the maximum number of points during
her turn and received a total of 700 points. Select the option which indicates the number of points that are
first won.

1)45 2)50 3)75 4)100

4¢) X a'Y I g faemeff wiem aTeuRIT BNt SITUIRATS! Tl AART. o TehHapiea tRERR g feri= 9.4 foprt
et ST FoR A STUT T ot iebs dasel] g R fohHT TTeld a_) uigdel. TR Qe BRIdel 3ieR faelt 2
9) o fopet Q) & foprft 3) ¢ fopHft 8) Y fopdt
58)  Two students 'X' and "Y' started walking from their school to reach their homes. They walked in directions
opposite to each other for 1.5 km and then each one turned to his right and walked 2 km and reached home.
What is the distance between their homes?
1)7km 2)6km 3)8km 4)Skm
YR)  TITeSelelt STRTT 3RAcTet TR AT 91 TGl STHATHAT. JUiHTcle] RepmT STt Ui 21eg Saell STsdt <egt ar gut
qUITEAT STATRIGHTT THET 3Tt  TIR BIOTRT Qivar aui ATl gichier areft ereg St fyaer.
SATTEE 3TNATE USetedT Siftfiar afifaicn Iahid sielet fafder ... SIEREREIKIESISER]
ATag! %t % Ahel IrdT T JRTaT 3.
31) Hele E)RESIS] P) effor 3) SHed SNIESS]
9) § 37T 8 Q) g amfirg 3) a1 anfor & g) 37 T &
59)  Study the situation given with a blank and the list of words. Select the pair of words such that each of these
when used for blank, fit the meaning of the description as a whole and produce completed descriptions
having similar meaning.
The ...... life forms evolved natuarally on the land made barren by volcano is strong evidence that humans,
too might be able to able to inhabit the area in the distant future.
a) wilting b) nascent ¢) waning d) incipient e) stagnant
I)bandd 2)bande 3)aandc 4)aandd
go) e faem anfdr @meR smenRa ey e et amed. e sy srfelen gaR s,
wd B g J 3.
e C g J 3.
4 P g C 3.
sy
37) Pl C 2 B 3R, ) Whal P gl J Tl %) PIal B 2 C AT,
9) ek 37 3ATfOT & ) Wih § 20T B 3) 9d ¥) Tpal AT
60)  Three statements and conclusions based on these are given below. Select the appropriate option with valid
conclusion/s
All Bs are Js. Some Cs are Js. All Ps are Cs.
Conclusions :
a) Some Cs are Bs.
b) NoPis]J
¢) Some Bs are Cs.
1) Only aand b 2)Only bandc 3)All 4) None
€9) TPl HL 9Y el 37T do Hefl 31ed. off Hetid! ATGRBPU (random) 1S PRIGITHT 318, T Fert SMIfT
S Jer! It IS EIvaTl Qe . ...... 37T,
) R9/8% R) R4/999 3) /40 8) 3/3Y
61)  Inaclass, there are 15 boys and 10 girls. Three students are to be selected at random. The probability that

1 girl and 2 boys are selected is.
1)21/46 2)25/117 3)1/50 4)3/25
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&) TR T ST ERATS PeTes HI FHIIET TR, e s qralell di edehial SisT, HeT 31T grept
2 19 TS ATciel Teholul AgHI™ @R dleTdl, Uehoiul Thel WX d Uehel @I dletdl 30T Uehoul S @i
qierar, areft mrfeett feft,

T HeedHaR el foaRet, ' "greaTdeh! AT BIvT 312 2”7 Ieh JelatuHTor ST fefl.

St + ) A AR, FeT @I e

gl : HT A1 AR, SIS @IS dlerl.

HIGS! 10T 3R/ 3Rl 2

q) t81 R) gar 3) gl 8) STST AT gTepT A1t

62)  You wanted to employ a hardworking gardener for your second home. Your friend gave names of the
persons; Jeda, Muta and Haka and informed you that one always tells the truth, another tells the truth
alternately and the third always lies.

After meeting them you asked, "Who among you is a gardener?" Each one answered as follows :
Jeda : I am the gardener. Muta is a liar.

Muta : I am the gardener. Haka is a liar.

Haka : Muta is the gardener. Jeda is a liar.

Who is / are the gardener(s) ?

1) Jeda 2) Muta 3) Haka 4) Both Jeda and Haka

€3) Yol uReeerdia dacean faurren e deuia favid watg fraer :

FEIRIT e T, AR Pad TR T d FATAT ARAATAT AT S T TTAT Thics ATATaRuTTT
BN IETUIR HIUT I PR SRATET. Gl TR d Sfafesniqes Wcl dgeRievdl Agdey al
RITEId T SRR o1l SrRAII b - 3Te. A1 dgTET N, Werdl I Uiel SRS o1g g al
TR eh AR, 390 febHl STARTER il DaIT HHUT Rl Tralell JTeld JATed bl el T, Jredl
R gedfte Siaw @ig @ af HIwISadT HloT STR.

9) R aRfer Bt 2) PoiedT ST YTodes <0,

3) wIgl g ORI e AgHauTe aRyedTd oo, ) gl I <IRT Ir e R aRmIeT Hed awul.

63)  Select the odd option with respect to the role of the last sentence in the following paragraph :
Pluto's moon Charon may be significantly reducing the loss of atmosphere of the icy planet by creating a
shield and redirecting much of the solar wind away. Pluto's relationship with Charon is one of the more
unusual. interactions in the solar system due to the moon's size and proximity. this moon is more than half of
Pluto's diameter and orbits only 19,310 kilometers away. You know that our moon is three times closer to the
Earth and as large as Mars.
1) Make unfamiliar familiar. 2) Supports the claim made.
3) Putinto perspective Pluto's relationship with Charon.
4) Help to picturize Pluto's relationship with Charon.

€8) e X d Y & gF ufrer fieft ammed g For i gt gfeharg it oM. Ui gfhdTe NTaTe

[FIRIT U ST ISUIR |4 fchdlg sl

X. foaiIaT a1 fg=die a4oc HTeft dheiet AT SRRTET AT IR XRETC AN gl 37a9d GRAAd.

Y, STHaRT 2091 el AR STadSt & AT SRRTET TaT ¥R a7 Jfadd ST SR et 3.

g :

a1) <t aTfdhergeea R U IR BT Achled, RN AP € ST eI TS TR ARl
B 31T feg=efir YegTeT T RiaT <.

) off RERfRI R foaRIa gar Acfier, SR fFAM 4§ ATTURIT @i AT dT SRRIC S STaasrea
STl wifecht RIS HeNyeIHT Al e Jfadd SRedTd SITER el 31T,

&) AMerepi= quefierna 7RI BedaR al ATdT RRITS a1 ¥R aT Jfadq T 3iled gdf ATgid

SRFAAT AT fEed e Tt TRERIIED SN

9) % 31 Q) e fdharg 3) & T |qd $) T4
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64)

Given below are two statements X and Y, and arguments related to these follow. Consider each of the

arguments separately and select all that apply.

X. Drawings made by Leonardo da Vinci in 1508 of the internal parts of the human body shows mesentery
as an organ.

Y In January 2017, mesentery is declared as the new 79th organ of the human body by researchers by
studying it in detail.

Arguments :

a) They can be considered as logically inconsistent since people were aware of presence of mesentery in
16th century and Vinci's drawing gives evidence of it.

b) They can be considered as contradictory because though researchers declared mesentery as a new
organ people knew its presence in the human body for at least 5 centuries.

¢) They are complementary as researchers gave recognition to already known mesentery by calling it the
79th organ of the human body after studying it in detail.

1) Only a 2) Eitheraorb 3) All exceptc 4HAl

&)

65)

rfrpTathT theh QI RET 31 Mfor 31gTem S ST theh 90 RERIT 31T

STRIATAT fARTUT &= T SaTd PRUIRAIS! DU ... 2 SREg7 U1 i I o

9) o IS gouT g aRe R T I SaTd.

R) HUHI BT PRUFRITS! e Jelid GgIIe SRR Jou 31Sf eI,

3) BITET QT ST S SHRIeRM deT A faaTfed ReRIT dhusia S HxudTd MY e ATl
) WDReled] SSIGRIIT Jefid B ATPReieIT Fd i<l Uil Bl el

The committee on sexual discrimination in the workplace has highlighted a certain company as a chief
offender. Of the twenty-five senior executives in the firm, only two are women. And of the fifty-eight junior
executives, only ten are female.

The company could best defend itself against the charges by showing that

1) they pay the same salary to senior men and senior women

2) ten times more men than women apply for jobs with the company

3) the work pressure and long hours make jobs with the company unattractive to married women.

4) all job applicants who were rejected had fewer qualifications than those accepted.

&%)

qe Afeclt gedhiar w4 e 3Ry TS HRIdTE! adedT 3iTed. ATl Hafd Sfud gt fFasT.

s AqHITT TR B R 919 STeft TR

% IS BAFHM ARG §d 3edho! IR giq ofed, e St ol ShRIa et 37TR.

% HIEIH YTgehid! F1S) B dIecd] fhHd e SRJeTeal SHT hRUTIG JTETSER ST,

% I QMR selell R g QT QIS0 Qrclt, JRI&RT 37T FHT0T UMY eIl aRRe Sclt, STefary,
TR 2Icit, TG W aToR QAT a7 3TelRa, IUTG 3MTelRaH, STeT UIaT 3Tela !, ST 3D
T P TGl FagRIT AT MM, TR IRIaet AqDHT ForT eI

Pl :

31) T PHiGaT ATIR T ARIAIT ST SedTe HUITATS! ATH-ATe e RIS §fGH, TAP,
BIRL I U BN ATERABA Hhoo! AT, TaId] e T By femdic i Tgamm= a9 Heft
TR

q) PRI, TN IC g D AT YETPRM g AEHNTH TOTaITY0r SdTGATS IR fobret fiicsuarr=ar gee
fIeROT et TTfgst M7 IraeRIeRis oM g1, Sidt, At ard |, IRy aRfRRST arh qorear
fepauIt &R SIRge it B eresett uTfEs.

) ATDIMT [T SUITAIS! T oA o5 SUIATATS!, SCUITRIT JISTehid Y&THT TRIT b Bl
7 fat uTfest, SR e o Tad:d Ta; AT 2Thdiel.

q) e PRI ST aRE T AT A<, A g UTE a1 RIEFE 8% aRpa.

2) eh & & aRa wxaT JTIRIRA! g At Year 3R,

3) h 31 U7 § BRIMATE REORYRED R T RIS SN At 7 rear gRum afdfe wRRie

GES

) eh 37 & PriqTe! @¥e § &) BrRIATE! cledefl, ava ddisRIeaN Sa¥ FaTRIH e YRANIC EIa.
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Given here is a set of facts and courses of action are suggested after these. Choose the most appropriate

option related to these.

* A suicide by farmers has become daily routine.

*  All related predictions are getting weird due to changing climatic conditions.

* Consumer biased media are in the forefront in creating hype over increasing prices.

* New practices like remote sensing agriculture based on accurate analysis, nutri agriculture, safe food
producing agriculture, wireless agriculture, climate smart agriculture, variable fertilizer application
agriculture, knowledge facilities like wind mapping, yield mapping, water quality mapping, etc. are in
vogue but farmers are not aware about these.

Courses of actions :

a) Government, voluntary organizations and agricultural universities should work in collaboration for
preparing a squad of intelligent, technically skilled, hardworking and honest agricultural assistants for
empowering farmers to use new agricultural ways of producing safe food.

b) Quality produce should be distributed in order to gain appropriate price with the initiative and collaboration
of farmers, self-help groups and consumers and at the same time government should plan policies for
maintaining quality of sources of air, water, soil, various ecosystems and prevent their deterioration.

¢) Government should assist political parties capaciously which are toiling for giving relief to farmers by
waiving off their loans and giving them relief.

1) All the three, farmers, farming and consumers will be benefitted only if all three courses of actions are
implemented.

2) Only c can be implemented urgently and is beneficial for all.

3) Courses of actions only a and b being complementary with each other, if implemented together, farming
and in turn economy will prosper.

4) Other occupations will prosper along with farming only by implementing a and preventing
implementation of b.

Y

67)

aictter 83 femeaftiet 43 Storit wfyer AT a1 Qiegl HTT Riepvarare! e Aicaett amad. 29 faemeafh
Aicael 3Rel TR Theh Wi AT foreuarrd!, aor digfisrdt e sren foRmeatht Heean gefauRt wafa
REEE

9) 34 ?) R 3) ¢ 8) 3

In a class of 43 students, 13 enrolled for both Spanish and Portuguese. 21 enrolled for Portuguese. If the
students of the class enrolled for at least one of the two subjects, then select the option that indicates the
number of students who enrolled only for Spanish and not Portuguese.

1)35 2)22 3)28 4)32

&¢)

68)

Sl FIRHATT STciolRad ST aqwrd! a IR Sicielikad SIctodT HIGIT agedrdl STgpc ST=ITAT STfor
TG IGaBTT ETHETE HIGIT TGBTT ETBTT 3iRTeiet JUITR GAUIRT G (as.

~

9) R ) VR 3) 3 g) m/?

Study the accompanying figure, with a circle inscribed in a square, that is inscribed in a larger circle and
select the option which indicates the ratio of larger circle to that of the smaller circle.

—
\

1)2 2)V2 3)2n 4) /2
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€]) il 7 TS 9R.Y M 3.9§,000, 3 INAT oo AfdieR du SHAUIRITS! Tehate AT Holidy
o). & ol A ST Udol 3RId, TR Slval bR TSI fohal thidh Usell 31l ?
9) .9¢9.34% Q) ¥.99¢.Yo 3) B.EWC.RY ¥) 0.69.°Y
69)  Inorder to buy alift pump for his well, Sunil borrowed Rs. 16,000 for 3 years at the rate of compound intrest
of 12.5 p.c.p.a. What would have been the difference in the interest on this principal had he borrowed it at
simple interest?
1)Rs.781.25 2)Rs.718.50 3)Rs. 678.25 4)Rs. 687.25
vo) feetear mrfeder dewfa 3frd gty fFras.
A,B @ C T T TepT FUTEIGR 37Tl UUT Tl XN ATEN. A d B IT aTiciet 3iaR wo famft 3 anfdr A @ C
T FRTICAE 3icR 990 ot ot
et X =B @ C 7 IATiciet e
et Y = go fobHt
9) X & xreft At arme. ) Y & xeft mich e 3) gt weft F|e ame.
) fectear arfeciear smuR xefidier Wedey fRifead exar JuR =gt
70)  Select the appropriate with respect to the given information.
Parks A, B and C lie in a plane but do not lie on a straight line. The distance between Parks A and B is 40 km,
and the distance between Parks A and C is 110 km.
Quantity X = Distance between Parks B and C
Quantity Y =60 km
1) Quantity X is greater. 2) Quantity Y is greater.
3) The two quantities are equal 4) The relationship cannot be determined from the information given.
9q) TR B A SN B IT S STavricl 8107 19:Yy 1 THTONG 37TR. SicgT JTciied § fofes fsior sigd edet amfor
B SIEUI A1 1 quidol *Rell &R A 3MfOT B o HHI0T 9:R STTel. TR T e FdTciiell A o gravr fopeft
3R ?
9) 9o fefex ?) R0 forex 3) 29 fofex 8) Y forex
71)  Acan contains a mixture of two liquides A and B in the ratio 7 : 5. When 9 liters of the mixture is drawn of and
the can is filled with B, the ratio of A and B becomes 7 : 9. How many liters of liquid A was contained by the
can initially?
1) 10 liters 2)20 liters 3) 21 liters 4) 25 liters
YR) T ETT GRATe Teba aTeidTd ST STgehH R, 8, &, ¢, 90 ST 92 Aepgi areidrd. 3o Mfeme @
fopcht deT T areictiat ?
q) % ?) 9o 3) 94 8) 9%
72) Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12 seconds respectively. In 30
minutes, how many times do they toll together?
14 10 3)15 4)16
©3) UeAfErAT SR 3 Y fHaer.
Y44y 488 = ?
9) 3.40 ?) 3.4 3) R4V 8) W.40
73)  Replace the question mark choosing the correct alternative.
V555.5449 =2
1)23.57 2)32.57 3)22.57 4)24.57
9g) UG STRIT 3Teeh G ST,
RE2= % wLFTAW_,
q 8 3P - 3q
1) 3R/9 R) 94/¢ 3) R3/0 8) ¢/9Y
74)  Replace the question mark choosing the correct alternative.

5 3p+2
If £ =2 then2Pt=d_»9
q 4 "3p-2q
1)32/7 2)15/8 3)23/7 4)8/15
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9Y)

75)

SR Yol AT GUCIVA 3 7 TgI SRielell ARe g1 T SReea forueiua 2 7 31fores Srun=n Hedgaeh]
3T, TR T HRHT yTauciuer Y = SIgM SRielel! Se faer,

9) o V-4 3) - 30 8) R0

If 3 less than twice a certain number is equal to 2 more than 3 times the number, then select the option that
is 5 less than 5 times the number.

o 2)-5 3)-30 4)20

9&)

76)

UhTEraeld Tl Uh ScTe! letdTees gidl. RTATRID il STTCHRATT RO JaedTe STTaTHRicea Brel

aufd gral dl arotdelell T8l ALl JHATDS ta-UGUUIRIE eIl UGNl Faidl AISqu[eh hRUdTl

PRIYR 3TR. Jeedl Afe=aTd ARl IV AT Glel aISTauaTe! d el A-1d xudTa WRari

HNUIRITS] TRUT ehial &b T JHEITS 3TTell 3118, TISHIU o0l @hidl ERT TIE deTTfepRicT e

FeledT RIANE e L IGHUTE THRIT €I JHedTes AT gaTd JAelell 3718 Irel,

q) Bt TCTell tich feaAT AT RO 9 TSTauard] URATHT ETel A1 AT TeTell auicliet brat Hig
TR IIGUT 98 PRUGT! d T TCTell ATl FRpeital YRIR s quaT! fawell e

R) I TCTAT LTSI FHRT RS BRIl Jad QUIRT d el URY AUl FHRIaR drsi
PIGUIRTS! BIRILRT TR PRUATT Il TaTel STATEQR STRIRIhIT HeeelT FTel.

3) AR W, UIeliRT @I AT STLRADII AT F<AT EHAN B HRod LA IHQuuITed] FHITeTe
BT PRUTATS! HIEH Fefed .

8) Q! el ATl 46 AR o T FRPll J&0T g LIyl Sfiees a1 argl Fa]
ficaugry |Te.

You were an avid dhol player as a teenager. You did not play it for few years till now as you were busy with

acquiring professional skills. At present, you are in charge of solving the city's pollution problems including

noise pollution. A group of young persons approached you to permit them to practice and play dhol for a

festival to be celebrated during next month and earn some money. Similarly, another group of young persons

already approached you with the problem of noise pollution in the city with scientifically collected evidence.

You will.

1) permit the dhol group to practice and play for few hours during the day only and request the other group
to bear with the noise pollution for few months of the year and allow the group to propagate the age old
culture.

2) request some responsible NGO to organise a workshop for all dhol groups for helping them to understand
the problem of noise pollution and assist them in solving their problems related to earning money.

3) organise a campaign for making people aware of the problem of noise pollution by working in collaboration
with health department, police department and NGOs.

4) organise a meeting with leaders of both the groups and request them to settle the problem of preserving
culture and prevention of noise pollution.

o)

7

T TepT TR HECE AT QUITIT SUERITT THRE SATET. U BHaTIhgd JHehs old! TR 3TTef!

IRIT T I BT QY G 37Tg AT el T fSasd T g AER Hdel THedrd fefdel 2. e M

frfget a1 & QT PRI Tl AN HelT s Srebetel! TTaT; eb FgUISt il AR aTiciier 3iTg JATIOT g%

TEUIST A1 SDIVATE! I UGTAR BT PR ATel. TG GO AT AhRIT Plel a2 3N § Tralell JIeid 37e. ME

RS PRUIRAST e,

9) DU FRfhedT PRor Tell Yelol STTRRIS! Heftid faueihs A T AHIUM Blgudd i
TRIIET FRTa.

Q) DU TR g A hetedT R Tiaf Tal axuariTe: g a grarareliel BEar!
I3 NI PRI,

3) T T MR 7 9ugR uTTett famd) exiet T do6 firesara a1 TERIT 8 ETAvIR el SR
.

¥) e SIFCRAT AT AHRIT o1& IR g Sfehild JTaediar THvIT Heauay dArTd.

You are the head of the hospital that provides services to one of the government organisation. You have

received a written complaint from one of the employees stating that he is having a terrible pain in the throat

and he did not eat solid food for the last three days. He further stated that he is not given proper treatment
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for two reasons; one is that he is from a reserved group and secondly he is not working on the higher

designation. As a head you know that there is some truth in this complaint. For sorting out the things you

will.

1) diagnose the patient and direct him to the concerned specialist for further treatment and supervise this
treatment till he is satisfied.

2) call up the meeting of your colleagues and subordinates and discuss the seriousness of the illness of
this patient and charges made by him.

3) request the patient not to take this matter seriously and assure him that you will look into this problem
as soon as time permits.

4) ask the concerned doctor to look into the complaint and request him or her to sort out the matter at a
personal level.

v¢)

78)

Sfefiped el APl ¥ad:dl JaRg 9 qRed! & AIg AT GTRWTT Sfie ST U FYRTBRM
W%W@Wﬁﬁ»‘oﬁeﬂ% NIEAEES dldqlsch@oo PgIC] aﬁalﬂqﬁmwmﬁmmmﬁ
AT PRART 3 Tl U fIgIed chl UM AgHid dTed gid. WRg Ahls HHaRT FeUT A HRUR
B Tl IARAET G, BT BTGB SITeT “RUIRT ORI & el STTHAT SARTUTRT SRR ATl 10T
T SR I FARATIT BRUIRAS! AT Hed AT U, IIes el JATE GAGAR el IRHTa .

9) T SABHT AT IR AT, FeUT Jauaral RIS HRUMR ATa.

?) WWWW@WMWWWQWWWWMWW

3) wauepRE anvfid fdegare AauarEu™ a fire G :TshuT aRUIRISYT HelU %o a1 @leprd SawT
el HRUITA T BT SRIOT=AT S=hiaT g Heemar Hicefie e I aRiel.

8 STAATRID doeiied] Tec = AT Albid FIQYT FRUITH TIwAT TR

Recently you have started voluntarily assisting people to give up their tobacco and alcohol addition and

lead a healthy life. As a lay person you always thought that the people get addicted with tobacco or alcohol

because of friends, relatives, out of the curiosity and enjoyment but recently you came to know that most of

the people employed as sanitation workers take to these habits to manage stress and ailments as the

unbearable smell, loathsome thoughts due to handling of dirt, and experiencing feeling of discomfort all the

time. This made you to rethink about their plight by putting yourself in their shoes. You will,

1) not try to convince these people to give up their addiction hereafter.

2) collect funds needed to make their life better by providing them necessary tools that they are not getting
at present.

3) form an active group of pesons and organisations who are genuinely interested in making life better for
these persons by conducting research on disposal and recycling of all sorts of dirt.

4) make arrangements for counselling these people with the help of professional expert.

©R)

grefior RIS SAhi=T FaTUshH SR SRId AT AT TTel! TR AaT eTdl @ LRI SRt T

Aifed T T STTRTd. Tl Had PRUITIIS! RawITa HIesid IRt 3Tds qoulid! HRel dhetel! 3TTe.

7 h! IR AR, T FHDGR DedT HiSdd, T TSI SH et IRIeied], Jraaged d AT

Pl AR PR NLTITNDP DR ATGKIDRY PRUTAT ATV SSRAT ATHLRA =<l Fgoroy

HISUIRAT SATEd. U1 ITefdod] cAredTch! Sgavadieil id AR Sila SeRId Hlelaedres, d StH AdfRiD

RYdIcieT FeaHe T Pedldiel eI, 1 A Juruigg d AMINTD TS HHas] Siiad STuIT

aﬁaﬂwéwm'\@a"rqﬂﬁmwﬂaaﬂﬁ WWWWWWWW

FIIET W ST Ho HUIRITG! AT AT Fa:d Sfiad difTel SHaUIRIIGT bR SIRIell Aed

QUITATS! 3MTaeadh SRAURT YR g fyep1ct gram a1 Falfadids 3191 2. Irel,

q) & I PR O RvArTS) AT BT D A TR IR DT SIS R d
I YTHIOT &ATea fafeer WM Slehrea SRISRIM & o i Stia g Tepial AHS BRI gedrd a1
IRIATE 9 AR T Hed e

Q) Sucted RIS BR ST YT ITup, T ITT BeUTeR DIl ISdS B B TTel JATOT AT T
heaIa SfeTad 0T epxuarl! fehar araa STIfor egagrf ey STR<IcdTd TuTugTeaT Heft et
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79)

3) grEfior ATt eI O ST HHISITE 3T T faenraTaTa! Uandt s @ aUaaTe! e hudTd
RETHE PRI BRUITET JFTHI SFRAVTAT HHSHISRIR IT ShIATS! QbR STeTRe e S
R

) TR0 AGRABIAT TN SHIUATEA] Y Hedid e HIRUTIET redrer Aefe areft st o

AT, Jrel G STIHE! AEeTITedT Aad g AR HRUARITS! aTcare aie.

You are heading a government mission that aims at making innovations work and providing better government
services for people in rural areas. Many young management school students are recruited to assist you.
These persons are enthustatic, come up with brilliant ideas, are techno savvy, give amazing presentations
using their eloquence and communication skills, and are highly assertive. At the same time majority of them
being city dwellers for all their life, are from arrluent middle-class families, and are little aware of the plight of
people living with various kinds of scarcities and their marginalization due to social dogmas. they lack
patience and perserance required for experiencing and understanding ground level realities of the life of the
majority people in rural areas and helping them to take initiatives in making their life better. You will,

1) make them realise that this mission is not for selling anything and make people addicted to busy
unnecessary commodities and they need to work with people in different parts of rural areas and understand
their life and aspirations.

2) let them work with their ideas for some weeks using very little portion of funds available and give them
a chance to improvise their ideas or come up with realistic and down to earth ideas.

3) arrange fieldwork based training for these persons with organisations that are experienced in doing
constructive work in rural areas for empowering people to work together for development of the society
that they belong to.

4) instead of wasting time on the hi-fi ideas of better life of young recruits you ask them work on some
peripheral targets, and you go ahead with your experienced colleagues for making the mission successful.

¢o)

80)

fafde Tsaidier Seieat TS BRI SR PRUIRT SHEeRT RTeied At Tl b daed
IR, PRIGHARY  BHRAT JBITsbT I hRd I, Bl Fea! AR IoH Haslel Id
SHIITS!, T fSPTOET 300 [Pl SRR SRieied TG A He AR d=uar et !, areft
T et T2, T,

9) T HERATS! FST el Fuch AreuTe et € T QU HERRAT I

?) AT HR T T SRcied] TSI IS daicicl Schiel Huds AT & AISrT RGuaTd! fe et

30T IraTelT T I e .
3) PRIAMBRI 3 PRO! 2 fIIhreaT R eI PRIMGT IR HfeR He AT drugmrt

SRkl ﬂ'IC{‘RIi"II hxTed.

) Il Hifgcl ea DRIBAT I DRILTET PRIHHTANIAT Higdla I JAAT AR i1 32l AWl 7
EAIGIRERRIENEH

You are a member of team of experts that is responsible for conducting the workshops for heads of the

institutions in different States. While designing the programme and work schedule it was suggested by

some of the members that the team should request the host office for arranging a visit of all team members

to the famous temple that is 300 km away from the place. You will.

1) request the members giving this suggestion to contact the person of the host office for arranging this
Visit.

2) request the members who are interest in visiting the temple to work out this plan by contacting the
person from the host office and telling them that you are not joining them.

3) suggest to the members to arrange the temple visit after completing the workshop and not during the
workshop period as it is against ethics.

4) tell the membes that some RTI workers are interested in knowing this workshop programme and request
them not to ask for arranging the temple visit.
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